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All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)
Trade Name: Electrician _ Year 2
Year: 2nd Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

150

Sr. | Client Question

No D Question Body and Alternatives

Trade Theory

1 Which instrument is used to test armature winding for short and open circuit?

¢ 3R 31U Fihe F fory smif=R arEfEn &1 wkiern 9 & 7w 5 Iue=ur &1 ST 52 i 82

:A] Tong Tester
[EUENEED

:A2 Series test lamp
e T oy

:A3 External Growler
CIRIRAH

‘_A4 Digital multimeter

fefStea aeciiiieR

Trade Theory

2

What is the name of the speed control method of DC motor?

SRft Frer 1 iy iz fafd o & A 52

I, e

D, Dy
A
oo SUPPLY
Ag

L-

ELNTMZST

A

! Field diverter method
Bits S fafdy
:A2 Field tapping method
i St fafdy
:A3 Voltage control method
e iz fafy
:A4 Armature diverter method

3R Sraad fafy

Trade Theory
3 Which winding wire is used for DC field coil?

Rft wice wisa & for fore I fET AR 1 Iuai fosar e g2

,Al Super enameled copper wire

TR AT A & R

Marks

2.0

2.0

Negative
Marks

0.00

0.00



AZ Single silk covered copper wire

RiTdt e B8 IR a”R

{\3 Double silk covered copper wire

T e HaS HIR IR

A4 PVC covered copper winding wire

PVC Hds PIIR a3fET arR
Trade Theory

Which formula is used to calculate the speed of DC motor?

Bt Hier B 1A 3 0T HRA B o b I 1 U e St 82

Al
E
N=_b
¢
A2
N=(P_
Eb
A3
E, .0
N:b—
120
Ad
Ep-0
y_Eb®
60

Trade Theory, |

Which rule determines the direction of rotation of armature in D.C metor?

D.C TeR & SR & goA &1 faRn & a1 fem feffya swang?

A

! Right hand grip rule

IR 814 Uhs |

52 Right hand palm rule

<1 814 P g4l &1 f{g|

A3 Fleming’s left hand rule
TRITHT % S g1y T Faw
_A4 Fleming’s right hand rule

AT & &1 g1 T

Trade Theory

What is ;hc name of D.C motor?

D.C HIER BT RTAHAR?
" L+
oL L 1
DC SUPPLY
E, A 4
O L- g
3
Al

. D.C shunt motor

D.C ¥ Hiex

52 D.C series motor

2.0

2.0

2.0

0.00

0.00



D.C 307t Aiex

,A3 D.C differential compound motor

D.C 3fadha Gifiies Hiex

64 D.C cumulative compound motor

D.C Tl Gt Arex

Trade Theory

Which rule indicates the direction of current in armature conductors in D.C. Motor?

D.C AR ¥ SR Hraded A die 3! = &l & a1 fFad Shg e g2

A

! Right hand grip rule

<R 819 udhs

éz Right hand palm rule

gIfe g1 ) gl o1 ey

A3 Fleming’s left hand rule

TAfHT & S48y &1 |

_A4 Fleming’s right hand rule

TRAET o g BTy T FEm

Trade Theory

What is the formula to calculate the current taken by D.C shunt motor armature?

D.C X7E HieR 3R gRT ¢ TS YRT B 70T 353 BT G F1 82

Al

A2

A3

A4

Trade Theory
Name the type of DC motor.

SRR F UPR BT AW

L2

{\1 Shunt motor

e Al

2.0

2.0

2.0

0.00



éz Series motor

goft fex
{\3 Long shunt compound motor
4 Short shunt compound motor

A

Trade Theory
What is the formula to calculate back EMF in a DC motor?

DC Hiex & EMF 1 TTUHT &% &1 T 31 82
Al

ZNP

Eb=¢aOA

A2
NP

T ZoB0A
A3

£ _@ZNP
- L

60 A
A4

_60AQ
°7ZNP
Trade Theory
What is the name of the equipment?
U] T T T 82

COIL INSULATED FROM CORE

EL201013

{\1 Megger

Earth resistance tester

o IRy Tierd

{\3 Internal growler

3fices AR
.A4 External growler

TR USR

A2

Trade Theory

What is the name of winding, if coil pitch is less than pole pitch?

Tfe wrzd g, Na e A eu g, A aRfEn s am R



A

! Full pitch winding
ot e greed

A2 Half pitch winding

e forg Fsad
AB Long chorded winding
fM Short chorded winding
T HISS AT
Trade Theory

What is the purpose of series resistor connected with holding coil in a D.C four point starter?

B T IR Uit ek # I Bl I IS A0 ufRiee &1 SERa | E?

?M Limit the current in holding coil
BIfeET Hgeit #f Bic o Afhd HY

:A2 Increase the current in holding coil
RIS PTg A H¥e se1Y

?Ad Increase the voltage in holding coil
P13 B Ubg H diecel §gIY

:A4 Decrease the voltage in holding coil
AT Pl & drew FA R

Trade Theory < \

Which speed control method of D.C series motor is used for electric train?

D.C Rt AR 31 foby fey Fron faftr 1 SuinT saiface 27 & fere o s 82

A

! Field diverter method
Bies SrEacR fafdy
:A2 Field tapping method

wies efth fafy

{\3 Armature diverter method

TR Sradk afY

A4 Supply voltage control method

3mgfef drect fArearor fafer
Trade Theory

Why statters are required to start D.C motors in industries?

JH A D.C e B YE T F oL @Ik FY SH1a=ass 82

A] Regulate the field voltage
& dieet 1 fafafid oY
A

. 2 Reduce the armature current

JTHRR HE B HH B

A .
3 Control the armature reaction

SR yfaforar &1 frifid s
‘_A4 Smooth operation of motors
TieR! &1 gare dare
Trade Theory

Which insulating material belongs to class ‘B’ insulation?

B G prarered Frdt Aol o & pereres Bl 82



20

20

Al Cotton

HU

{\2 Bamboo

EIs|
A3 Fiber glass

TSR TN

64 Leatheroid paper

TS HT HITA
Trade Theory

What is the temperature value of class ‘F’ insulation?
Joft *F* SRR BT ATGH T 1 82
Al
. 90°C
90°C
A2
. 105°C
105°C
A3
. 120°C
120°C
A4
. 155°C

155°C

Trade Theory

Which type of D.C motor is used for constant speed drives?

R T 3159 & R e UbR BT D.C HIex BT IUTNT fobaT SITal 67

A ! DC series motor

STt Joft AR

_Az DC shunt motor
St e e

A3 .. .

.~ Differential long shunt compound motor
TEwfRre @1 Yie durdg Hier

.A4 Differential short shunt compound motor

Trade Theory

Which DC motor is suited for heavy starting torque and high rate acceleration jobs?

HFE DC HIeR 7t W €T TR 518 YT THIeRT Siisd & foft Suged 82

_Al DC series motor

S goft HieR

52 DC shunt motor

St e AR

A3 DC differential compound motor

St fewiRa i Hiex

_A4 DC cumulative compound motor

St T At Hier

Trade Theory

‘Why carbon composition brush requires in the armature circuit to operate the D.C motor?

D.C HIeR &1 T B3 & 7T SR Ifhe § Bre- HUISTRM 571 P 3wl I gl 32

2.0

2.0

2.0

2.0

0.00

0.00



21

22

23

21

22

23

Al Increases the starting torque
R semgul & sgrar g

A2 .

7 Protects from armature reaction

R ufafpar A saran &

AB Protects armature from over loading
SHfRY 1RO Y SR T e R §

64 Reduces the spark in the commutator segment

BRLR TS T Wi HH B T &
Trade Theory

Which is the most effective method of balancing armature?

TR 1 ferd B BT G U T B AT 82

?M Static balancing
R dga

:A2 Dynamic balancing
IGNIKKSGRE

‘_A3 Attached with counter balancing

B AgaH & I JaT
A4 . . .
. Plugged with lead weight balancing

T YR e & I T o T

Trade Theory

Which material is used for starting resistance of DC starters?

St wréd & ufoRiy Bl I 7 & o e Il o1 Sudiv fearsiang?

,Al Eureka

ksl

.AZ Nichrome

BlEEg)

,A3 Manganin

ERIIEE]

54 Constantine
Trade Theory

Which type.of armature winding is illustrated?

fEa PR B R IrEfET &1 oz i mar 82

ELNSE 3068

A ! Duplex lap winding

2.0

2.0

2.0

0.00



Swe AT afeT

:A2 Triplex lap winding
feucie g aEfeT

?'\3 Simplex lap winding

:A4 Quadruplex lap winding
Ty A7 R

Trade Theory

Which growler test for armature is illustrated?

3R F T B9 91 TFer wdem afm 82

ELNI3078

?M Open coil test
geft el witerT
:A2 Grounded coil test
S T AR TRIEOT
?'\3 Shorted coil test

YU Fed uder

A4 Shorted commutator test

YR HrgeeR uderor

Trade Theory

Why commutators are sparking heavily?

FRER T Il THE IJGF IR 8T 3?2

_Al Incorrect brush position

TR DI RUfd

AZ Incorrect field connection
TTeTd BIeS HaRH

A3 L .

.~ Incorrect direction of rotation
o ) TTera =

A4 .
_ Incorrect armature connection

T 3R HaRA

Trade Theory

What is the action of the induced emf in a running D.C motor?

Id Tt D.C A # ORa STHTG 3 fhar R g2

,Al Assists the applied voltage

AR Al BT TSIl HT 8



éz Opposes the applied voltage
AR Ao BT Ry Rl §

f\3 Increases the armature current
R P B dedT g

:A4 Decreases the armature current

SR FE I IeT &
Trade Theory

Which motor has this characteristics curve?

g Aiex § ug fadwar 82

SPEED

TORQUE

EL#1616

_Al Series motor

goft Arex

{\2 Shunt motor
Tfe AR

_AS Cumulative compound motor

Tt AT Hiex
'A4 Differential compound motor
favew difte dieR
_:_Tradé Th-gory

Why the D.C series motor field winding is wound with thick wire?

D.C 4G Fie &1 Hics arsf AIdt dR & 91y a18s & 82

,Al To regulate field voltage

BITS diecsl DI [AFaiFd B S g

.AZ To carry the load current

WS P DT oA > forg

{\3 To keep:maximum inductance

e IR 7@ & fog

A4 .
" To reduce the armature reaction

SR Ufdifsrar &) & H B & fog

Trade Theory
Which type of speed control of D.C series motor?

D.C %Gl HieR &1 T e b g TR a1 82



30

31

32

30

31

32

DC SUPPLY

L—

:A] Field parallel method
& FHTR fafy

?AZ Field diverter method
Bits S fafdy

:A3 Field tapping method
wics it fafdy

54 Armature diverter method

TR Sack Y

Trade Theory
Which DC Motor is designed to work within full load limits?

I I DC HIeR YOF 4R 1 & iR o1l 31 & A e sl g @ 2

_Al Shunt motor

e AR
{\2 Series motor

gl Hicx
?B Cumulative compound motor
el A TieR
Differential compound motor

fates e AR

A4

Trade Theory

Where D.C compound motors are preferred?

Fgl D.C fifdd vl &) wrfiear &) erd 82

_Al Constant load requirements

TAR NS SIRIHATY
.AZ Constant speed requirements

fraa fa ot saadan

_A3 High starting torque requirements

I SRS Tl HaRaHarg
.A4 Constant speed under varying load requirements
S-S ATS HIRAD AT P STIR a1

Trade Theory

Which type of instrument is used to test the armature winding?

MR arEfET 1 uleru e & oy b TR & IUHR &1 WaiT foha oirell 82

'Al Megger

TR

2.0

2.0

2.0

0.00



33

34

35

36

33

34

35

36

AZ Growler

{\3 Multimeter

e Hiex

A4 Ohmmeter

3iigriex

Which type of DC motor is used for sudden application of heavy loads?

HR YR & 3 HIRG B3 & oL [ d ueR o) St Hiex &1 IuanT foban oiren 82

A

! Shunt motor
e AR
.AZ Series motor

goft Arex

53 Differential compound motor

ftles aiftre Hiedt

54 Cumulative compound motor

Tl Aiffep HieH

Trade Theory

Trade Theory

‘Which speed control method is used in food mixture motors?

@ fysor Hied o forg wifer foimror fafd o1 Ui foam srar 82

fM Voltage control method
Arees feE fafdy

{\2 Field diverter control method

Wics SacR o fafd

_A3 Armature diverter method

TR SRIaR fafdy
54 Series field tapping method

sjarel & et fafyy

What is the purpose of tapes in winding?

IEfETH AU BT Y

?M Insulate slots

:A2 Bind the coils

EIEREIE IR

:A3 Wrap the conductor
DHeaR quc

:A4 Insulate exposed conductors

What is the operation in the rewinding process?

RarsfEm ufspan 4 75 b @ &2

Trade Theory

Trade Theory

2.0

2.0

2.0

0.00

0.00



37

38

37

38

?M Cleaning of slots
Bl 3t gTs

{\2 Removing of winding
& eTer

?B Removing of wedges
EESEakEEIl

:A4 Cutting of winding wire

AEFET AR Bl

Trade Theory
Which type of armature winding is illustrated? 2.0 0.00
g U 1 3feR arSfET o feur fobam ram 82
Y8
[ 1 [ 2] 8] w
_A] Triplex wave winding
ooy qa arfET
.AZ Duplex wave winding
.AS Progressive lap winding
TRt T argfEn
54 Retrogressive lap winding
Refye du arEfEn
Trade Theory
Which type of test is illustrated for the armature after rewound? 2.0 0.00

TfIAY & a8 3R P e 59 ueR &1 wdheror Rifyd o man g2



39

40

41

39

40

41

ELZIMT

_Al Open coil test
ol peeil T
Az Shorted coil test

TYART Fad UIE

63 Voltage drop test

dieeol 1Y TRIefo
,A4 Grounded coil test
IS S Bigel Wa
Workshop Calculation Science

What is the formula for (a-b)>? 2.0 0.00

(a-b) PTG R G?

U2 2ab+ 2
a® - 2ab + b’

2 224 2ab+ b2
a% + 2ab + b2
f% a% - 2ab - b?
aZ - 2ab - b2
:A4 -a% - 2ab - b2

-a% - 2ab - b?
Workshop Calculation Science

What is the value:of a x a2 x a°> x a* ? 2.0 0.00

axazxa3xa4a7—fﬂ'l:f_q“q'f%?

Workshop Calculation Science

What is the value of 625°?
625° BT HF FT3?



42

43

44

42

43

44

25

Which type of stress?

BT ufdee 82

Workshop Calculation Science

.
.

WECHZEL 1011

{\1 Tensile stress
GEIERIGER]

?AZ Compressive stress
gudte fded

:A3 Shear stress
ERERIRCR

64 Torsional stress

EREREIGER

What is the unit of strain?

PP o F

! Kg/cm2
Kg/cm2
:A2 Newton/metre?
Newton/metre?
?M Metre
Metre
f\4 No unit

No unit

Workshop Calculation Science

Workshop Calculation Science

Which symbol is used to express change in length?

TS H URad 1 b o 3 ifan St 82

Al
L
AZ g

dl

2.0

2.0

2.0

0.00

0.00

0.00



A3
A4

Engineering Drawing

Identify the wave form.

39 BT &I UgaH

EDNGHS211007

:Al Square wave
w39

§A2 Sine wave
BIESCE]

'A3 Triangle wave
Bl

?'\4 Saw-tooth wave

Higydd

Engineering Drayiné

What is the name of the symbol?

ydieh T A 1 82

o

EDNGA92 1008

_Al Microphone

TEHIHH

'AZ Dynamic microphone

SIS ATSHIHH

_A3 Condenser microphone
b S
.A4 Loud speaker

A3 THR

Engineering Drawing
Identify the given symbol

fau 7Tq efiep ! Ue=

2.0

2.0

2.0



A4 Inductance

EEERE R B
Engineering Drawing
48 48 What is the name of the gate

e BT 9 AT ?

fM NOT Gate

NOT e

.AZ Ex-NOR Gate

Ex-Nor ¢

A3 OR Gate

OR e
A% AND Gate

ANDIE
Engineering Drawing

49 49 Which is photo diode?

BIel SEE B AR

Al

s —ppp—«

A2

2.0

2.0

0.00



50

51

50

51

A3

A4

Engineering Drawing
Which of the following is AC ammeter? 2.0 0.00

Froffad § 9 HH Ac THieR &2

Al

-
_@_

A3

A4

Complete the sentence with suitable describing words It is a neighbourhood. One need not fear. 2.0 0.00
Complete the sentence with suitable describing words It is a neighbourhood. One need not fear.

Employability Skills

{\1 good

good



52

53

54

55

52

53

54

55

safe

expensive
expensive
Employability Skills
Complete the sentence with suitable describing words There isn’t any amusement park in the area. Itisa ___ place. 2.0 0.00
Complete the sentence with suitable describing words There isn’t any amusement park in the area. Itisa ___ place.

_Al polluted
polluted
A% ary
dry
A3 .
.~ noisy
noisy
A4 boring
boring
Employability Skills

Complete the sentence with suitable describing words There is a factory in the arca. The air is . 2.0 0.00
Complete the sentence with suitable describing words There is a factory in the area. The air is

! polluted

polluted
52 boring

boring
A3

uneven
uneven
noisy

A4

noisy
_Employability Skills
Complete the sentence with suitable describing words There is water scarcity in the locality. The area is . 2.0 0.00
Complete the sentence with suitable describing words There is water scarcity in the locality. The area is

1
uneven
uneven

A2 .
7 noisy
noisy
AS dry
dry
'A4 boring
boring
Employability Skills

Complete the sentence with suitable describing words The transportation to some rural areas is difficult as the roads 2.0 0.00
are

Complete the sentence with suitable describing words The transportation to some rural areas is difficult as the roads
are

fM dry

dry

:A2 polluted
polluted

:A3 boring

boring



4
uneven

uneven
Employability Skills

What help us to maintain the balance between mental and physical activities?
What help us to maintain the balance between mental and physical activities?

:Al Hobbies
Hobbies
:A2 Running
Running
f\S Walking
Walking
fM Reading
Reading
Employability Skills

When you meet the instructor inside or outside the ITI, it is....
When you meet the instructor inside or outside the ITI, it is....

:Al always formal
always formal
:AZ . formal inside the ITI
. formal inside the ITI
3 informal the ITI
informal the ITI
A4

informal outside

informal outside
Employability Skills
Role models people to follow them
Role models people to follow them

1
elevate
elevate
2.
instruct
instruct
3. .
inspire
inspire
4 .
motivate

motivate
Employability Skills

Spoken communication is usually not only but also

Spoken communication is usually not only but also

?M formal, informal
formal, informal
2 verbal, nonverbal
verbal, nonverbal

3 verbal, informal
verbal, informal

'A4 formal, nonverbal



formal, nonverbal
Employability Skills

60 60 The immediate surroundings to the place you live in is called 2.0
The immediate surroundings to the place you live in is called

Al village

village
A2
. town
town
63 city
city

_A4 neighbourhood

neighbourhood
Employability Skills

61 61 The conditions in a place that affect the behaviour and development of somebody or something is called 2.0
The conditions in a place that affect the behaviour and development of somebody or something is called

:A] neighbourhood
neighbourhood
environment
environment

fw locality

locality

M facilities
facilities

Employability .Sk_ﬁls___
62 62 Which kind of persons are with very good behaviour, achieyements and lead as an example? 2.0
Which kind of persons are with very good behaviour, achievements and lead as an cxamplc?

! customer service executives
customer service executives
?'\2 ITI instructors
ITI instructors
.AS role models
role models

4 ;
sales supervisors

sales supervisors
Employability Skills

63 63 There —-----m-mmn- a coffee shop ----------=------- the park. 2.0
B (S CR— a coffee shop --------------—--- the park.

1
are, next to
are, next to
2.
1, next to
is, next to
is, next
is, next
4
are, next

are, next

Employability Skills

0.00

0.00

0.00



64 64 Rainwater harvesting ------------- to prevent water scarcity 2.0
Rainwater harvesting ------------- to prevent water scarcity

Al .
gives

gives

A2
gave

gave

,A} help

help
54 helps

helps

Employability Skills

65 65 Identify the opposites. clean x --- 2.0

---, healthy x ----
---, healthy x ----

Identify the opposites. clean x ---

f“ dirty, health
dirty, health

:A2 . dirty, healthy
. dirty, healthy

:A3 dirt, unhealthy
dirt, unhealthy

‘:A4 dirty, unhealthy

dirty, unhealthy
Employability Skills _

66 66 Which one is not an adventure? 2.0
Which one is not an adventure?

! climbing mountains
climbing mountains
:A2 trekking
trekking
3 surfing
surfing
A4 driving
driving
Employability Skills

67 67 Travelling in the sea is called a 2.0
Travelling in the sea is called a

! voyage
voyage
%2 boating
boating
?'\3 fishing
fishing
A4

. tour

tour
Employability Skills

68 68 There are many dos and don’ts to be --------while preparing for/ attending an 2.0
There are many dos and don’ts to be --------while preparing for/ attending an

0.00

0.00



{\1 there, interview
there, interview
.AZ identify,
identify,
:% identified, interviewed
identified, interviewed
,A4 identified, interview

identified, interview
Employability Skills

Always -----=--e-mnm- your mobile phone ----- silent mode.
Always ------mn-mmn-- your mobile phone ----- silent mode.

know, in
?'\2 know, of
know, of
‘:A3 keep, in
keep, in
:(M keep, of
keep, of
Employability Skills

The Everest, the --
The Everest, the --

-- peak in the world, ----------- in Tibet.
-- peak in the world, ----------- in Tibet.

j’“ high, is
high, is
A2 Ligher, is
higher, is
'A3 highest, are
highest, arc
:A4 highest, is
highest, is
Employability Skills

Which language:is essential to become a Computer professional?
Which language is essential to become a Computer professional?

fM Mother tongue

Mother tongue

:A2 Chinese
Chinese

?M English
English

A Hindi

Hindi
Employability Skills

Which is the Synonym for "loyal"?
Which is the Synonym for "loyal"?



A

! Faithful

Faithful
:A2 Prosperous
Prosperous

:AS Utopian

Utopian

?AA Perfect

Perfect

Employability Skills

When you speak to your supervisor, you should be
When you speak to your supervisor, you should be

?M Aggressive
Aggressive

‘:AZ Formal
Formal

:A3 Informal
Informal

_A4 Casual

Casual
Employability Skills

‘Which one is the describing word from among the words given?
Which one is the describing word from among the words given?

.Al Mobile phone
Mobile phone
:AZ Water
Water
A3 pull
Pull

_A4 Magnificent

Magnificent
Employability Skills
A sentence is a sentence that expresses a direct , command, invitations, warning or instruction.
A sentence is a sentence that expresses a direct , command, invitations, warning or instruction.
|
simple
simple

2
compound
compound

3. .
imperative
imperative

4 ..
adjective

adjective
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Question Number
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1 A3
2 A4
3 A1
4 A1
5 A3
6 A1
7 A3
8 A3
9 A4
10 A3
11 A4
12 A4
13 A1
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15 A2
16 A3
17 A4
18 A2
19 A1
20 A4
21 A2
22 A1
23 A1
24 A1
25 A1
26 A2
27 A3
28 A2
29 A1
30 A4
31 A4
32 A2
33 A4
34 A4
35 A3
36 A3
37 A3
38 A2
39 A1
40 A4
41 A2
42 A3
43 A4
44 A2
45 A2




46 A3
47 A1
48 A4
49 A3
50 A1
51 A3
52 A4
53 A1
54 A3
55 A4
56 A1
57 A1
58 A3
59 A2
60 A4
61 A2
62 A3
63 A2
64 A4
65 A4
66 A4
67 A1
68 A4
69 A3
70 A4
71 A3
72 A1
73 A2
74 A4
75 A3
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